5500

%

/
Y

Z

3C

N

I IIIIIIA

020 NO KOMHAMAM
= 5126 M kb

Ui
OO x 1248

14,35 | 1500 1425 103

>

naH Ha omM. =0 000

W

Ul d
1000 x50

—

000 | 10%

.

N\
N

1/50

4

N

&%\\x‘&%&\\x‘%&\\

1560

7srIss

—_—__rrr,ryry,yryrrs:

9y

N

W

IS IrsrIrIrson

S = 3585 M kb

RRRIRITITIET IR RIRRER KR ERURURR R IR RR Y

> =905 M kb

N4

H§§EESEEEEEEEESE§§§§§§§§§§§§§§§E§E§S§S§E§E§S§;k

)20 x 2200

“\;\I

%
EE%E%E%Z%%E%EE%%%?EEEZIIIIIIIIIIIIIIﬁ%%%ﬁ%ﬁ%%%%??&ﬁ%%%ﬁﬁ?”"

S

= 624 M. Kb,

HIT_5

/0 x 2200

1055

ENNNNNNNNN

1200

1045

\%‘\\ml

T 5% %%
I%ﬂ%ﬂ%ﬁ%’z’%ﬁ%ﬁ T %%’zﬂfz’é}%ﬁ%ﬂ%ﬂ%ﬁ{/}/ﬁ
7 7

P60RN
\

SN

N

SAN\ i

s
1500 x 1248

0/
99

1455 | 1500 | 1475 | 1054

D,

NI7%
%

AARARRRRNNNY

Ul E
1000 x_Jal

000 | 1035

L3560

50170

2180

7 %
EW%M/Z//’/Z% § — f%%#/’ﬂ’i%%%%%ﬂ’
¢ /

7 ?5?22252525IIIIIIIIIIIIIII?Sé'
ol /7
ALL0 | 1020 1610 o665 | 1020 w9
- SV -
N R N N VA R
@) 3 :

100

430 § 07

N

[\

-
N
—

7

/

SN —

7

U5
1200 x /80

A .

gs_

1IE
17/0 x 2/0C

7
100 x /8l

1500

9670

-— )




